
The task: 

the speed of a vehicle of mass 500kg increases its velocity from 56km/hr to 72km/hr.what is the 

increase in kinetic energy. 

Solution: 

56 km/hr=16 m/sec 

72 km/hr=20 m/sec 

A kinetic energy of a vehicle before increasing its velocity is 

𝐸1 =
1

2
𝑚𝑣1

2 

And after increasing of the velocity, kinetic energy of the vehicle is 

𝐸2 =
1

2
𝑚𝑣2
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So the increase in kinetic energy is 

∆𝐸 = 𝐸2 − 𝐸1 

Or 

∆𝐸 =
𝑚

2
(𝑣2

2 − 𝑣1
2) 

∆𝐸 =
500 𝑘𝑔

2
(202 − 162) = 36000 𝐽 

The answer: ∆𝑬 = 𝟑𝟔 𝒌𝑱 
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